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2. WrimEE T

BTEEET (RU~—% A FELHZ)L)
(1) 27 U—HrIEoY
A = 1. 1800
(2) i - sy
Vo= 0. 09140
(3) sy
W= 0.091 x 2.3
(4) WEEETLT (R ~v—kE A FEALH L)
HE~HEFE
Vo= 0. 09140
SRR
Vo= 0. 091 X 1.18

1. 180

0. 091

0. 209

0. 091

0. 107



(5) BTEIBERFR

e FOUHERET BrEEEHESRE
8 | %2 | (o) | ey |FOVE| B | #E | BEE | @R | 4% 7%
(mm) (m2) (m3) (mm) (m2) (m3)
1) 300 100 60( 0.0300{ 0.00180 60( 0.0300{ 0.00180 5%
2) 1200 150 60( 0.1800| 0.01080 60( 0.1800| 0.01080| >S=-#kmEH
3) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
3) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
3) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
4) 300 150 60| 0.0450| 0.00270 60( 0.0450| 0.00270 5%
5) 200 150 60( 0.0300{ 0.00180 60( 0.0300{ 0.00180 5%
6) 400 150 60| 0.0600| 0.00360 60( 0.0600[ 0.00360 % 57 58
7) 250 100 60( 0.0250] 0.00150 60( 0.0250] 0.00150 5%
8) 200 100 60( 0.0200{ 0.00120 60( 0.0200{ 0.00120 5%
9) 1200 100 60( 0.1200{ 0.00720 60( 0.1200{ 0.00720 5%
10) 900 100 60| 0.0900| 0.00540 60( 0.0900{ 0.00540 % 57 58
hE | 11) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
11) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
11) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
11) 100 100 60( 0.0100[ 0.00060 60( 0.0100[ 0.00060 % 57 58
11) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
11) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
12) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
12) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
12) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
12) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
13) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
13) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
13) 100 100 60( 0.0100{ 0.00060 60( 0.0100{ 0.00060 % 57 58
a0 14) 600( 500 130f 0.3000{ 0.03900 130{ 0.3000{ 0.03900 5%
15) 200 200 130{ 0.0400| 0.00520 130{ 0.0400| 0.00520 Rig
HE)Y 16) 400 200 20( 0.0800| 0.00160 20( 0.0800| 0.00160 Rig
FOUHERET BrEEEHESRE
FOUE| EHE | KB |WIEE | B | K& %
(mm) (m2) (m3) (mm) (m2) (m3)
60| 0.7600| 0.04560 60 0.7600| 0.04560
s 130f 0.3400| 0.04420 130{ 0.3400| 0.04420
" 20( 0.0800| 0.00160 20( 0.0800| 0.00160




3. OWbhiFEAL

OOEINEAT

(1) FE~Jii T &
L = 2.800

O OERS
W =

GREE O OV 1UliE D 2001

mm)

FROOEINEX 750 c x 0.005

r DUBhEAMOORE

. _ NE=S =
NSV 50mm, 50 x 0.005 = 0.25mm  (O\OVEIFUIE) v R
50 (QDOEINGEE) = 0.25 (OUEINLE) x 200
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20015 & 3%, CIHEFCREAM I 40%
N e e — SEEEEUFOL OI30%
N i . N - G = ==
%émmﬂﬁﬁwmm&9:/7u NMEHER T & Wil
(PR PR | GRS D L BR350mm)
(2) SEATIEAM (HEEMHEE YD F U LK 40%)
Wi = 0.000038 x 1250 X 1.30 =
HJE (kg/ i) QA
W2 = 0.000230 x 1250 X 1.30 =
i (kg/ i) QA
I EIF %Ry
W1 = 2.80 =x( 1000 = 250 )x( 50 =+~ 1000 ) =
HIEFe(m) B E 4K HEASE DR F(ke)
0.06 kg = 0.56 kg L7 TLEVEA 0.56 kg x 1.30 =
[EYN 1[m] et DA
w2 = 1 x( 50 -~ 1000 ) =
B E 4K HEASE O F(ke)
0.37 kg = 0.05 kg L7=3 > C8IEIVEA 0.40 kg x 1.30 =
[EYNE 1[m] et DA
(3) HTEAM (BRI & A > FREAM)
W1 = 0.000038 x 1400 (kg/m3) X 1.50 =
# HE (kg/ ) oA
W2 = 0.000230 x 1400 (kg/m3) X 1.50 =
# [ (kg/ ) TR
LA FEE
W1 = 2.80 =x( 1000 = 250 )x( 50 =+~ 1000 ) =
L (m) P i 5 HEAG B F(ke)
0.08 kg = 0.56 kg L7 > TLEEA 0.56 kg x 1.50 =
EAM & 1P e A
w2 = 1 x( 50 =+~ 1000 ) =
P i 5 HEAG B F(ke)
0.48 kg = 0.05 kg L7223 TL0[EEA 050 kg x 1.50 =
EAM & 1[EFEHE & Ak
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(4) =4 (20mm x 3mm : 3m/A AR KL< Y 2 —/LONEFEY)

L = 2. 800 + 1. 960

W = 0020 x 0.003 x 4.760 x 1450 )x 1.30
V=M (m) V)& (m) FiEFe(m) # [ (kg/ ) AR

N = 4. 760 X 3.0

(5) EAZRE
Vo= 280 x( 1000 <+ 250 ) + 1

ER B [ % AT

4.760 m
0.54  L(kg)
lkg=1LIZ CHak

15 N
13 i



(6) DU hNFIEEETR

. ) VUbhNnEEEET
BE | 2 | (m) | (mm | BERE | R b ZN 5%
(mm) (m) (m2) (m3)
AlBE <1> 0.30 1500 60 1.500 0.0005| 0.000030
EEIL <2> 1.00 1960 - 1.960 0.2301 0.00023| XKig8
P15 <3> 0.20 600 40 0.600 0.0001| 0.000004
P15 <4> 0.20 700 40 0.700 0.0001| 0.000004
0.20 1300 80 1.300 0.0002| 0.000008
0.30 1500 60 1.500 0.0005| 0.000030
1.00 1960 0 1.960 0.2301| 0.000230
4760 140 4.760 0.2308| 0.000268
g5t ER 2800| FifE 47

XESXVOUHNIED 200E R HL:(2002F )9 —MEE R A E [ MRERERIGESD LE350mm)




4.
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5.

6.

7.

k)5t T

(1) T
A = T76.6 x 2

(2) KYJFRET.
L = 76.6 x 2

(1) e ST EB AL =

< JEHEN w=70mm

L = 4.033 x 4

« FBER w=70mm

L =( 0.300 + 0.303
« B ER w=50mm

L =( 0.050 + 0.250

(2) FHEH (MY a1 > )
VI = 0.070 x 16.132
V2 = 0.070 x 1.226
V3 0.050 x 5.130

(3) Ry T v T

X

feife = DN ER T T

X

0.025

0. 300

0. 555

0.035
0.020
0. 020

L =

VI = 0.070 x 16.132 x 0.140

V2 = 0.070 x 1.226 x 0.140

V3 = 0.050 x 5.130 x 0.100
HEAKE « B B Hdh T

(1) PE7KE &

N o= 8

> HEEH (VP100)
2> HFE BHE-HEEE)
3> W4 R
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153.200 m
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8.

(1) fHRHEE THES (#2147

R e i i T

A = 76.7 X 1.550 X 2 = 237.8
s BT (XA 7H) BB TEH={(SXX)/mt (NXKI X a1) XY} XA A= 237.8
= b BRI
S HEEMRE 448
N EMREL 0. 156
X A% 1.0
k1 :BUGERBEAT IELREL 1.1
al F o — KR X fHIE 1.1
RETE={(SXX)/mt(NXKIX 1) XY} XA (SXX)/m = 448
NXklX a1 = 0.189
(2) fERIE Y 25 (& A 7F)
A = 55 X 1.500 X 4 = 33.0
s %L (XA TF) A= 33.0
WRIER#E | > — FE | > — FiIE
Y | T BT | P 3
7 (§AER) (PR 1) (§AER)
S HEHMREK 18 2.17 4,77 2.63 1.82 29. 39
N : SSHEMRE 0. 260 0. 029 0.023 0. 007 0. 005 0. 3240
X A% 1.0
k1 :BUGERBEAI IELRER 1.1
SR T 2= (M(708) +S X X+ (NX k1) XY} X A M(708) +SXX = 737
(NXk1) = 0.356
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m2



